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oOrM A A 593,890 1,502,952 A 909,062
= 92,000
= 501,890
ot & &t 593,890 1,502,952 A 909,062
o= 92,000
= 501,890
XNEAMNLSELESH (X =AILSESE S H) 593,890 1,502,952 A 909,062
=} 92,000
= 501,890
StEAIEF AR 222 401,750 1,205,280 A 803,530
401 Al HI L £ 0HHI 401,750 1,205,280 A 803,530
01 Al& B 400,000 1,200,000 A 800,000
OJHE (S2HM)EH 2AHEA 2212])
500, 000 *200m 100,000
OFRE(IIZ2HM)EHI Z2AH(A2 JI=22])
500,000 *200m 100,000
OMENSHE KX E=2H| 25,000,000 x2 04 &~ 50,000
Oodt& (XIetotd  AGHAE) XZ=2 HHAZ (1004
SH) 100,000,000 =14l 100,000
Oodt& (XIetotd  AGtAE)=EE S HHI L2 (10
HsSo) 50,000, 000& = 14! 50,000
03 Al&E 204 Y| 1,750 5,280 A 3,530
OX ot EH 2 A 24|
250,000,000 *0.7% 1,750
SIE A =R X 22 184,000 288,472 N 104,472
o=t 92,000
= 92,000
401 AlEHIZL 201 Y| 184,000 288,472 N 104,472
o= 92,000
= 92,000
01 Al&H| 184,000 284,000 A 100,000
O#MHAE(FE2H) BHAIL (20 E22l)
1,000,000 *160m 160,000
& 80,000
= 80,000
OJIdNE 2 =2FHH AL (10HISH)
2,400,000 * 1004 & 24,000
& 12,000
= 12,000
ofd 22| & Bt 8,140 9,200 A 1,060
201 et H9d| 4,900 5,600 AT700
01 AFR 2t 2| bl 4,900 5,600 AT700
OFJHZ 1= 200,000& x1H x23| 400
OXNestd AU =2 2o E X EH &
90,000 5004 &~ 4,500
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Ol &F o4 %Eﬁ HRE2
202 o4 | 3,240 3,600 A 360
01 2L I 3,240 3,600 A 360
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18,000 *1H «15L x123]

3,240




